EARAZROREIERT — 2 N—XBISY —F 20195F4821H (H) 3E£R1H

m&?&éﬁ‘é@ 75 -5 B13 ¥R (w8 | imEmml - |5 5) som 8
[~E4£] 1#%:310,000” ~ 2#%&:71,00MW ~ 3#%:37,000™  43#&:27,000 ™ 57 :18,000 M
B BB BERR Mk HE %F (FE) s4 L (G&ZE) | BBIER | EOF |SIEH | AS | AE | AU FIR) / BE / £EHS
. $TT . 5o _ Iz (£5R)
1155 | 7— A THL—0 i 5 S 1.(45)).4 6-5-2-2 | 40.1 2 ;1_517) et
R/ EL— B:RA27T+—7 [EliEses
S #o4 | FEER 1:40.4 1-1-1-1 | 40.2| — 1 530 |R_AZ (£R)
ol1|1|BAY—EY 56.0 (NF) (1) | FATE—
L:tr/n7aq4 Bid-RLYyy SRS
. 6 | EERE 1:41.5 2223 (413 — | 3 | 508 |BAE (£R)
3 2| Ky ZX—JL e 54.0 (5) (1) | BBEZ
ST NATA—H— BII1 T by T EBAUS
S g RS > 6 | EEHA 1:42.7 7-7-5-5 |42.1| — 5 | 494 |BAZ (2R
alzl 7|79y BR=1 - 56.0 6) (-3 |BN=E= ’
29T bA—Tr7—K-—F B:RFU—-LxtXx SEANS
5lglg| T7ARXYaTIL> N 1:(412).9 3-3-4-4 |425| — | 6 | 427 ii{zz (#R)
R:ANZRRTING BAYq—k3Tq > (-3) = st
S NS f 6 | XEER 1:43.2 5-5-7-6 |42.3| — 4 | 496 |BfEfRZ (£R)
Eﬂ 4 E A | 57;1.0 (11/2) (+1) FHEM
Ri77AVIT Bi¥EYLLE— HEFHZXF—T I
sakA— . 4 — A _ (£R)
7lglg| /7F vz 5 | BA (12413/27> 4-4-6-6 | 42.8 7 12(7)? i
v >RYIYRIR B/ TAHh—Ly b 27 B4
s 5= 4 | (ERIEF - - - - - — | S (&R
Kl 3| FFTT AN H ] 5D () ) |EEFE
R:xA1z=dyr—2 B:TIFATLXEY b BRia4US
- S Ao 4 | hEHED — - - - - 467 | DNEEFNZE (£R)
M - BEZEEE L IR A () o) | BEAX
RTUHARIL R BH IR HRT RAEHS
@ 11— —EBIRfL
12=7r= 1,2,9,8,4,5,7
23|=3r= 1,2,9,8,(4,5),7
d=7"= 1,(2,5),9,7,8,4
40 —F— 1,5,2,9,7,(4,8)
[ /N3
Ly 5 1803 | | 74 K 1-5 100/ | | # &= 1-5 110[ | | 3E4& 1-2-5 170/
7 B 5 100M 2-5 130/ B B 5-1 250M 3HEH 5-1-2 680MH
1 100H 1-2 130H 5 E= 1-5 110M
2 100M B HE &= 230M

ABICOVWTRDTEEERROODE. TR LIV,



